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	��	�
	��	� 	������	� ��	� (��������� ��� 	��	��
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����
%�����	��5���	���∀�	��������
���∋��

Μ�� ��	�	� 6�	�	� !�� �∀	�∃���	��� ∀	�������	�� 
���� 	��� −	∃����−
,�.��Α����� !�� 	��
	��	��� ���� ���

∀	��	��.	��	�	��	����������	��	�,��∃∃	����%��∋��

Μ��	�� �	�� /������	�!����� ����� ���� ����	�� ��	�	� !��%�!����	� �������������	����� ���	��	��� ���� ��	�

�	�∀���Λ���������������/	���	��������∀		����%�������
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Direkte Aldolreaktion  in DMSO (Table2, entry 1): 

 

(2R, 1’S)-2-[Hydroxy(4-nitrophenyl)methyl]cyclohexanone 

 

HPLC analysis Chiracel AD-H (iPrOH/hexanes=20:80,  

0.5 ml/min, 254 nm), tR = 32.0 min (major isomer). 

1 (21.6 min, 10%, (2R,1`R)); 2 (22.9 min, 10%, (2S,1`S)); 3 (25.0 

min, 17%, (2S,1`R)); 3 (32.0 min, 63%, (2R,1`S)). 

 

Direkte Aldolreaktion in DMSO + 10% H2O (Table 1, entry 4): 

 

(2S, 1’R)-2-[Hydroxy(4-nitrophenyl)methyl]cyclohexanone 

 

HPLC analysis Chiracel AD-H (iPrOH/hexanes=20:80,  

0.5 ml/min, 254 nm), tR = 25.0 min (major isomer). 

1 (21.6 min, 28%, (2R,1`R)); 2 (22.9 min, 14%, (2S,1`S)); 3 (25.0 min, 47%, (2S,1`R)); 3 

(32.0 min, 12%, (2R,1`S)). 
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